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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 Find out which of the following sets form co-prime numbers. Question ID :9888374539
] w Status :Answered
fArAfafad gzt & A Fla-a1 @g FAT FEAC FATGT 5 Chosen Option -1

Ans (1' (12,7

X, (21,42)
X3 6.9
X4 (43,129)
Q.2 The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase of 10% and 5% Question9888374548
of their existing salaries respectively, what will be the new ratio? ID:

Status :Answered

P3RQ & ARAF daa & 31eurd 4:3 g1 G PR Q & adAE daa # FAA: 10% Chosen

Option :
oo 5% T 9 g5 &, o 74T Iqard FaAr gem?
Ans o 1. 88 : 63
# 63:88
3. 45:60
X4 60:45
Q.3 The Home Rule Leagues set up in 1915-16 worked as auxiliary units of the . Ques;gr?9888374500
1915-16 # TG gFEe ofFl e A @ fradl HgF SHs & T A FH FAT  Siamus - Answered
off? O(jhgserT
Muslim League ption :
A
TX, e 6
Indian National Congress
V) AR USET i
Extremists
X 5. sfaanfear
British Raj
X4 Tafeer et
Q4 Questiongg88374530
Status :Answered
Chosen
Option :
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Ans

Q.5

Ans

Q6

Ans

Q.7
Ans

Q.8

Ans

Q.9
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Fill u]‘d;‘a'ij E;E;‘Ik with the most appropriate option below.
A= mc ing has come to stay, future financial transactions would be based on

l—U\..l‘}}(JlUEV.

Point of Sale
B r ¥
x"zﬁﬁaﬁrﬁﬁ [ ¥ waifas 39gad 9o #¥ Naa ¥4 #X

f‘f;??R"bOﬁ‘:sé’ﬁhTa?ruaﬂHm_ & o w %, ufesw & Ry deld
3. Uaifeae B
— Wireless IIEE” bT T gl
v .4' aRReE
, an Assamese wildlife biologist won the Royal Bank of Scotland (RBS) Earth Question

. 9888374506
Heroes Award 2016. ID:
Status :Answered

IO aea-Sed Sig [JAET A gl dF I THicdds (IR & TH) Chosen,

3] R 3a1s 2016 Sfarl Option :
Angoorlata Deka
2, ST SH
Aparajita Borkotoki

Subrata Sharma
X5, B <

Purnima Devi Barman
, IO e 9A

Which of the following Vedas contains treatment for diseases? Question ID :9888374498
Status :Answered

e 7 @ fFm 9g # FeRar &1 39ER e g2 Chosen Option :4
Yajur
K, IR
Rig
Ko, R
~ Sama
X 3, d1H
Atharva
oy 3ad
HORSE : SERHO : : CURSE : ? Question ID :9888374581
){1 ERCUS Status :Answered
i Chosen Option :4
# . SECRU
# 3 RCUES
¥4 SERCU

K and L can do a work in 15 and 20 days respectively. They work together for 5 days and leave. Question988837 4556

Calculate the unfinished portion of the work. ID:
Status :Answered

K dUT L Ush FIH I FHehel HAA: 15 3T 20 &AT # gACg #T I&d g1 9 5 6d s Chosen,,
Option :
I FH F{h gel SAld g1 HIH o FHYUT HABT S 0T HIFAT| pron
7
X, 12
5
Vo 12
1

X, 13
1

X4 #

Question ID :9888374574
Status :Answered
Chosen Option :2
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Ans

Q.10

Ans

Q.11

Ans

https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realattid=1...

Comp' 55 N fai<hiai Y-
11l NAYY D D 0 D 1ndlan Alr rorce

“Rl" JHTQWNI 7y ? : Indian Air F

4T3 Ajr Chief Marshal

uUsi o

Air Vice Marshal ~
X3 WR 91 AR

Flight Lieutenant
Ky, wemge AftFeeie

A question and three statements labeled (I), (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

27 AR arg el

Question: Can you make an overall assessment of the present level of
stock market index today?

Statements:

L Today, the stock market index has reached lower than the lowest
during the last 3 years.

II. During the last vear, the index fluctuated between 30,360 and
28,255,

L The stock market index touched a low of 27,125 1 the preceding 3

vears.

Select the right option from the following.

d v e 3 AT Fwaa (1), () 3’ () fgw aw g

39T g o oer § & 9o &1 3ol & & fow &l

AfFT-g U9 AT gigl

WeS: AT 3T ISl A AR GIehish o oA Tl Hl

HI Hediched B Thd £7
FYA:

I 3SR SR HgHid TS 3 gul & 98 A
T @ ot A 9gg gl

. s a¥ & ahud, gaeie 7 30,360 3R 28,255 &
dIg 3dR-TeId |

. oo 3 @l # PR IR Fadis o 27,125 &
el FaT H T

frafaf@a & & 7 e oo

All the three statements I, II and III are insufficient.

2 @t |, 1 wd I, =t srriea §)

Both statements [ and IIT are sufficient.

V', Faa | 3R I gt g g

Both statements II and ITI are sufficient.

X5 wad 1l AR I gt e 2

Both statements [ and II are sufficient.

X4 waa | 3R 1 gt 93 g

Indian Railways network connects about ~ stations.
HRCART Yol sleadh erarsiar AT @ SASar gl
#<1 12,000
< 14,000
V'3 8,000

Question ID :9888374608
Status :Answered
Chosen Option :2

Question ID :9888374537
Status :Answered
Chosen Option :2
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< 4 10,000
Q.12 If TEACHER is coded as 8412745, CHEATER will be coded as: Question ID9888374583
gfg TEACHER @l 8412745 & 9 & #I5 {1 ol §, df CHEATER &I 8 9 g6 Answered
# Iz fhar aran? Chosen,
g ’ Option :
Ans K| 2714845
X2 2741485
A3 2748145
V4 2741845
Q.13 Select the number which is different from the other numbers given below: Question ID :9888374588
Status :Answered
157, 571, 599, 387 Chosen Option :4
a8 HEAT 9ol Sl A" 41 5 3T e ¥ e g
157, 571,599,387
Ans X 571
< 157
3 599
V4 387
Q.14 8 boxes of a fruit were purchased for Rs. 9,600. 5 boxes were sold at a profit of 10% and 3 boxes Question988837 4567
were sold at a loss of 10%. What is the net gain in percentapge? ID:

Status :Answered

UF B & 8 f3sd 9,600 ¥ # @il I g1 5 fBs 10% & @y uT aam 3 fBed Chosen,

Option :
10% & gifel oY o< o §1 g o widerd & &4 g7 P
Ans K| 2.75%
v 25%
3. 2%
K4 225%
Q.15 Hubble’s Law is related to . Question ID :9888374523
- Status :Answered
gelel =l ferar - T wdfed %-l Chosen Option :3
~ Heat
<1 FAT
Sound
Ko, eafq
Astronomy
V'3 mafadr
Air Pressure
X, B4l & gag
Q.16 In April 2016, the National Green Tribunal suspended the environmental clearance given to the Question
proposed hydropower project in Arunachal Pradesh to save the . ID: .

e 2016 H Ut gRa Afdestor o F ga F AT womEe wdwr & 0 Stats :Iz‘i)tempted

Chosen

mﬁﬁaﬂﬁqqﬁmﬂﬂ?%@aﬁWH@ﬁﬁﬂﬁﬁﬂml Option :
Great Hornbills
Ans -Kll. I =5

Gayals

X, I/
Medicinal Plants

X3 3itweir dtet
Black-necked Cranes

V4 FTAT T AT TRA

Q.17 GSAT-18 launched by India in October 2016, was esgentially a satellite. Question ID :9888374532
Status :Answered

FFCAR 2016 7 A AT aIfod SFAc-18 7@ TF _ ITE &l Chosen Option |1

meteorological

X #lga fSAe-gaeh

Ans

9888374508

Ans
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remote sensing

X 5. Rt dfa
communication
o T .
- earth observation
X, gl addator
Q.18 The river island M3ajuli which became “India’s first and only island district” 1s located in - Question
D 9888374493

&Y AT ATSEN, S ‘R & dgen iR wHAR gl e s g, &  Status :Answered

Chosen

FEerc %| Option :
A Karnataka
X 1. FeATCH
Jammu and Kashmir
x, SFH-HFN
Himachal Pradesh
X5 TeATEe 9g2r
~ Assam
v, ¥aH
Q.19 clicking on mouse selects the entire paragraph by default, while working with text Question
S S 19888374529
document 1in MS Word. ID:

UH UH 95 & CatC SIHAC A HH Hd THT ABE S fFae e W/ Status:i?ttempted

aF fEwiec ®T ¥ T NENS F 9T FaT (g?;fssn
Alt + Single

A1 Alt+ fEarer

Triple

Vv, feue
~ Double
M3 Tl
Single
X4, e
Q.20 The Nobel Peace Prize 2016 was awarded to: Question ID :9888374513
A 2ifa WEeR 2016 ¥ =e% GrAad fFar o= Status :Answered
2 Chosen Option :4
A David J. Thouless
BOX 3fEE A e
Bob Dylan
Ko, g Bore
Bernard L. Feringa
X3 gells wer. hifar
Juan Manuel Santos
, ST Hegser daw
Q.21 Find the least number which should be added to 1456 so that it is divisible by 6, 5 and 4 without Question988837 4546

1D :
Status :Answered

9F BIE--BIE FEAr AT FIfFT e 1456 7 sl 0T g 6, 5 M 4 & 0T Chosen,

Ans

leaving a remainder.

Fram ESF —. (?I Option :
Ans .Kll_ 6
<2, 61
V3 44
X4 16
Q.22 Question ID :9888374589

Status :Answered
Chosen Option :1
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Ans

Q.23

Ans

Q.24

Ans

Q.25
Ans

Q.26

Ans

Q.27

Ans
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Choos‘R'eptile which 1s not similar to the others in the group given
helow:

Y a0 00 Reptile, Snake
Snak "
:ﬁfﬁﬁezaﬂgﬁﬁaﬁqﬁﬁﬁm%aﬂmaﬁ%z
2. ¥ g
B9 Lizard AT, BT, A9
A3, Tueelt
~ Crocodile
X 4 FIRATS
In a class of 135 students, the number of boys is twice that of girls. One-sixth of the boys and Questlon
one-third of the girls failed in the final examination. Find the percentage of students who passed

9888374550

L Status .Answered
the examination.
Chosen

135 @il 1 U Ha A, dsH H GEAT asfEEAl F GEAr F guE §) @ afi@m  Option
# 1/6 o= gur 1/3 @sfeal Aol gr A1 39 OET &1 Yiaid A Sie &l

qI&T 7 Jccdiol gU £l
K1 75%
Ao 71.45%
V3 7778 %

X4 8123 %

If p and q are in the ratio 4 : 3 and therr LCM 15 36, p + q =? Question ID :9888374545
Status :Answered

aﬁpﬁmqﬂﬂmd:SﬁﬂTﬁ. . 36 %,Fﬁp+q=‘? Chosen Option :2
X118
v, 21
<3 24
X4 12
EIMQUY : CGKOSW : : BFINRV : ? Question ID :9888374579
2| CGKOSW Status :Answered
x » DHLPTX Chosen Option :4
X3 AEIMQU
V4. ZDHLPT

‘What is the cost price of a product, if the gain in selling 1t for Rs. 27,120 15 13%? Question ID :9888374568
Status :Answered

U 3¢9 A FT Hed FT ¢, I 39 27,120 I # s9 T 13% atataﬁm%’?(;hosenopuon
Rs. 24,600

X 1. %.24,600
Rs. 24.000
v, %.24,000
Rs. 22.800
X3 %.22,800
Rs. 25,300
X4 %.25,300
The simple interest at 10% p.a. on a deposit for 2 years 1s Rs. 4,000. If the interest is compounded Quest10n988837 4562

on an annual basis, how much more will be the amount of interest?
Status .Answered

wh AT AR R 2 A A 10% F arffi FreRor sarst X @ @e et sawel 4,000 Chosen,
SR ¥ Al sare AT 3O WX awaiE €7 & G @ ar ser 1 geer & OOt

fraelr afg gefr?
Rs. 200

v %200 #
Rs. 240

Ko 5240 FT
Rs. 220

X3 5220 FT
Rs. 190

K4 F.190 FT
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Q.28 The difference between the selling prices of an item at a profit of 9% and 7% was Rs.190. Find Question9888374565

the cost price of the item.

ID:
Status :Answered

T gl 9% T 9 S°a AT 7% o1 I dud & b e # 190 T9F F7 el Chosen

e
3T Ry 5 2poP 9 Hed AT HIfeiv]

X1 %9200
Rs. 9,500
v, %.9,500
Rs. 8,700
X3 %.8,700
Rs. 9,000
<4 %.9,000

Q.29 Pointing to a photograph a lady said, “he 1s the son of my grandfather’s
only son”. How 1s the person 1n the photo related to the lady?

U AR T 3 SURT Fd gU U Afgell o Fel, “Ug W
CICTST & Sehelld §¢ &1 d¢T 71 d¥d & <Iiad 39 Afger

FT FAT AT 87
Grandfather

Xy, g
Father

~ 2. Toar
Son

X3, Fer

Brother

v, EIES

Q.30 Which of the following international football stars belongs to Brazil?
fArt & @ Fla-ar 9f8g asda beaio oSl grefier 1 82
Neymar

v dER

Gabriel Batistuta
X, e rfaegdr
Marcos Rojo

Lionel Messi1

Ans

Ans

Ans

Option :

Question ID :9888374590
Status :Answered
Chosen Option :4

Question ID :9888374502
Status :Answered
Chosen Option :1

Q.31 Interchange two mathematical operators and balance the incorrect equation given below: Question ID :9888374587

16 -24 x2-+-10+104=0

Status :Answered
Chosen Option :1

a1 AT Heh T T TATT 9T 3 Feel 3T A= fow 71w arera @efieor &t

Hafera #t:
16 - 24 x 2 + 10+ 104 =0

= and =
A i

Q.32

Question ID :9888374609
Status :Answered
Chosen Option :1
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A question and three statements labeled (I), (I[) and (III) are given. You
have to decide which statement(s) 1s/are sufficient to answer the question.

Question: Find out the minimum number of nurses needed by the

hospital.

Statements:

L
1L
IIL.

There are three shifts round the clock.
There are thirteen wards requiring two nurses per shift.
The town needs at least three nurses per thousand population.

Select the right option from the following.

A T wee AR dF wAaa (1), () AR (1) G v §)
IR Ag AT o § & 9Re T 3ca] & & o @ia-
ANfRlA-T Fee gaed 8/E|

WesT: 3Tl H TGS Adl I wg=aHd TE&AT Tdd|

H;

agl didia ge¢ &1 die arferar g

aef g ars §, S e gfa ol o et &
3TIRTSAT gl

Both statements [T and III are sufficient pry g aray dieq A&l &I

ANS X, e 1l 3T I @t e

T eI il 4

Only statement I 1s sufficient.

Xgfhael ®Ue | 9AedT I |

X3,

v,

Both statements [ and III are sufficient.

Foa | 3T 1l gt gaiea &

Both statements [ and IT are sufficient.

Foa | 3T 1 gt waea g

Q.33 Complete the analogy with the most suitable option:

Ans

Rice :

Carbohydrate :: Sprouts : ?

HaTide 39YFd faehed &I Tol T AL T H:

dlidel

1.
v,
<3,

X4,

: Frafgigze o 3B @ ?
Water

alel

Protein

T
Heat
FEAT
Fat
adr

Q.34 WWF stands for:
Secd] Seed UH &l W AT g

Ans

Q.35

<.
<.
Vs,

X4,

Web World Federation

a9 des mlﬂ'
World Wildlife Federation

des dlSesclls® thalele
World Wildlife Fund

dos diSescllsth |hUs
World Web Federation

o= d9 heLee

Question ID :9888374576
Status :Answered
Chosen Option :2

Question ID :9888374533
Status :Answered
Chosen Option :2

Question ID :9888374535
Status :Answered
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‘Ponzi’ erhama rafare g the scam. Chosen Option :3
coal allocation

AnS X e smdes— SC @GR &
investment
) e
~ fodder
~ 3. dHT
food grain
Xy, T
Q.36 *Absolute zero® refers to Question ID :9888374518

A AT FT G Fl Chosen C)S;)?fcl)lri z;\nswered
minus 273 °C
V| T T 273°C FA
minus 295 °C
X, AT 295°C A
minus 300 *C
X5 AT F 300°C &
minus 255 *C
X, WT T 255°C &
Q.37 Which one of the following islands does NOT belong to Lakshadweep? Question ID :9888374494
TeEg 7 ¥ slqaar gl TeTed T gatig g 27 Status :Answered

Chosen Option :1
Minicoy

S T-Cicor)
Kavaratti
~ 2. hadcdl
Neil
L ENGIG]
Amini
.?‘(4_ HHEAT
Q.38 Read the following statements and select the option which is NOT Question ID :9888374593

true based on the statements: Status :Answered
Chosen Option :4

Ans

Ans

The cost of six mangoes is equal to the cost of four apples. The cost of
eight apples 1s equal to the cost of two jackfiuits.

frafei@a el # 9¢ 3R g Adeq g ol el &
TR 9 TET el &

©g AT T aerg gr g9t H dEd & e g1 36 et
&I ST &Y wegal @l orerd & el 2l

A mango is not as costly as an apple.
X | UF 37T 3aeT A AGT ¢ forcell Ta A
An apple 1s cheaper than a jackfrnt.
X, UF U TH FHegel ¥ TEAT gl
Jackfruit 15 the costliest of all.
X5 wegd oo @eft 7 gEd AZ B
An apple 1s not as costly as a mango.
', TS T 3dT A AT ¢ Foldel U 3H|
Q.39 10 men and 5 women can do a work in 60 days. If one man can do the work of two women, how Question988837 4555

long will 5 men and 20 women take to complete half of the work? ID:
Status :Answered

10 99 U7 5 ARV v F& F 60 oA # U A §1 AfG TH GFY &l Afgensi Chosen,
F1 @ G §, A 5 GO O 20 AR 36 FTH ¥ A ST F q@ A F
fora=TT |®HT o917

Ans

Ans
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Q.40

Ans

Q41

Ans

Q.42

Ans

Q.43

https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realatt. ..
v 25
<3, 36
K 4.50

In July 2016, a Russian priest set a new record of flying solo in an air balloon around the World, Question988837 4491

in just over days. ID:
Not

Selis 2016 & Ush & GIgl o gaT & Isan A 3hol 33 ST el feat 3 SEUS A emoted

Chosen

U GieAT T TFH M U 8T NePls F=rd| Option :
X117
v 11
<315
X413

is NOT a common bitmap-based file type extension. Question ID :9888374528

fared) £ 5 Status :Not Attempted
T AT -3 pIgel €18 Il &gl %’I Chosen Option :--

v oDT
< o TIFF
/3 PNG

74 PCX
Statements followed by some conclusions are given below. Question ID :9888374611

Status :Answered
Statements: Chosen Option :2

A All men are mechanics.
B. All mechanics are engineers.
Conclusions:

. Some mechanics are men
II.  Some engineers are mechanics.
Find which one of the given conclusions logically follows from the given
statemnent.

U FUA A Fo @cwy A7 fqw 51 @ 8
Y.

A. el FepsT A )
B. st A+ sahfaax &1
sy

I Fo dAH@E FATsT §
Il o el Afaw §)

Fia-gr fFvey BT 710 Fud &1 difes &7 & 9reld Hdr

Neither I nor IT follows
Xy sarl« &l aee &ar §
Both I and II follow

Vo | AR ST arelel X @

Only conclusion I follows
X5 hael foIshy | drert Har §
Only conclusion II follows

X 4 Fael forsey || dreleT T &

Question,
D :9888374557

Status :Answered
Chosen

https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realattid=... 10/30

Downloaded From : www.sforstudy.in



2/6/2017

Ans

Q.44
Ans

Q.45

Ans

Q.46

Ans

Q.47

Ans

Q.48

https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realatt. ..

15 persons can complete a work in 60 days. If the number of persons is increased by 5, how Option :3
many 20 dayslier will the work get completed?

X220 8 5 s &) 60 el & qU & @hd &1 Al cafFaal 1 dear 5 3 T

& s i freet et g o @1 TR

o 10 et
15 days

v 15 e
45 days

X4 45 fee

RMSK : SLUI :: KMFZ : ? Question ID :9888374580
< 1. LIHB Status :Answered

.{-2' LLHX Chosen Option :2

X3 HKIB

X4 LHKX
The Rowlatt Act was passed in the year . Question ID :9888374501
Status :Answered

ﬁﬁ?." TFC @y H qika fEar ar o Chosen Option :3
A1 1921
<5 1917
3 1919
X4 1915

K borrowed Rs. P at a compound interest of 20% p.a. for 2 years. Interest amount payable was Question988837 4563

Rs. 5,280. What was the value of P? ID:
Status :Answered

K2 af & faw 20% & aiffd ashqfy saer W P 94 3UR dal | a0 &1 ¢4 Chosen

Option :
f3r 5,280 TR off| P &1 #=T F4T a1 ption
Rs. 12,000

V' ¥ 12,000
Rs. 11.000
X5 % 11,000
Rs. 11,750
X3 % 11,750
Rs. 12,500
X4 F 12,500
The cost price of a set of 2 pants + 4 shirts or 1 pant + 6 shirts is Rs. 5,600. A shopkeeper decided Question,

to sell them separately. He sold 10 shirts for Rs. 6,000. Find the amount of profit or loss per shirt. ID:
Status :Answered

2YT+A4AC F TH HC AT 19T+ 6AC F TFH AT FT FI Fcd 5,600 TF g1 TF  Chosen,
GFFGR 3o HORT-3eRT 9« & Ao &ar &1 3@ 10 o 6,000 ®93 3F I Option

gfcr e ansT ar giier T ufer Arg fifee
~ Profit Rs. 1000
#< 1 19T, %.1000
Loss Rs. 1000

X, BIfel, £.1000
Profit Rs. 100

X3 @1, £.100

9888374566

Loss Rs. 100
V4 BT, %.100
Q“esi‘[‘)“f9888374559
Status :Answered
Chosen
Option :
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40 kmph
V| 40 TpsEer
30 kmph
2. 30 Tepsi/eier
50 kmph
X3, 50 femefi/eier
60 kmph
2 4. 60 Frefy/EeT

Q.49 The minimum age limit prescribed for appointment as Governor of a State in India is Question
D 2888374510
years. :

Status :Answered

ARG A el T & Togurel & ¥ A WgFd & v HuiRd #g=aa g @A Chosen
Option :
__ a¥gl
Ans X 1. 40
<2 30
K3 25
W, 35
Comprehension:

Ans

SubQuestion No : 50
Q.50 Who 1s the shortest of all? Question ID :9888374595

H_Gm' oreT Status :Answered
. 1:rggarih 7 Chosen Option :1

Ans J] . E_ﬁ.m.
Ramesh
X, T
Alpesh

23, 3reder
Yogesh

K-4, harer

Comprehension:

Yogesh 1s taller than Alpesh but shorter than Dharmesh. Suresh is shorter
than Rajesh. Harish 1s not as tall as Alpesh. Ramesh is taller than
Dharmesh but shorter than Suresh.

T Feur # oar fheq W ¥ ool §1 gL e ¥
BT &1 girer 3euer Saar oar a0 g1 e aefr & e
fehed glar 9 oler g

SubQuestion No : 51
Q.51 Height-wise, who 1s 1n the mddle? Question ID :9888374596

o 3 Status :Answered
3 E"é + 3 TN dra a? Chosen Option :1
Dharmesh

v e

Suresh
X, T
Yogesh

X3, e
Ramesh

Ky T
Q.52 Question ID :9888374599

Ans
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Ans

Q.53

Ans

Q.54

Ans

Q.55

Ans

Q.56

Ans
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Rearrange the jumbled letters to make a meaningful English word and Status :Not Attempted
then select the word which is different from the rest. Chosen Option :--
fra srcgaffud 3l & gAcdaffad e UF HrelE
FASA ereg Fa¢ R O 397 F 98 Asq gaA o AV F
g EveoL
~ 2 LCIYHL
¥3 HLTCO
A 4. MIUNC
If & means ‘+°, $ means ‘-, # means ‘<" and % means “x°, then the value of Ques;gn.9888374585
9% 3 & 22552 &85#17. Status :Answered
afe & & 3T+ &, S @ 39T = F # F o3 2 ¥ 3R % ot x A A g;?;el‘?z
FT AT F4T &
9% 3&22%52&85#17.
<18
L)
X3 3
K45
Which of the following sites was added to the list of UNESCO’s World heritage sites in July Question988837 4516
20167 ID:
) Status :Answered
ffrr A @ fpw worel & Jens 2016 H olehl 1 faed adigd Tell & g A Chosen,
anfaer fapar aran? Option
Khangchendzonga National Park, Sikkim
| aesET TSE 3eAr, s
Mahabodhi Temple Complex at Bodh Gaya
X, HeEif #fgy afEy, seemEr
Kaziranga Wildlife Sanctuary
X 3 I gedelld HFARTT
Keibul Lamjao National Park, Manipur
X, UG AT TET 36T, AT
‘Leader of the House’ 1n the context of Lok Sabha refers to . Question ID :9888374512
. Status :A d
SEAT & Tesl F WeA & oar # I § . don

. . — Chosen Option :2
Any designated member of the ruling party or coalition

X | Hcdive gol AT Asade &1 &g off a1fAd gy
v,
Either the Prime minister or a Minister who is nominated by the Prime Minister

TEITTHAT AT TAAHA G@RT AfAd HAT

Leader of the Opposition
The President of India
X, 9Rd & usgufa
‘Tropism’ mostly refers to the: Question ID :9888374526
. - . Status :Not Attempted
i Hfepiera: griar %: Chosen Option :--

Directional growth of a plant

V' e dier & fgrncas Ao

Longevity of animal species
X, TR gewidar & ety
Bird migration

X5, aferdr &1 vara
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Behavioural pattern of humans

X, HAEET gagR & Yeet
Q.57 Arrange the numbers in descending order: Question ID :9888374543
2411, 443, 345, 542 Status :Answered

s 5 o : Chosen Option :1

2411, 443, 345, 542
Ans o] 542, 443,345, 2911
X 335, 443,542, 2411
X3 2411, 443,345, 542
K4 43,345, 2411, 542
Q.58 A person pays Rs. 8960 per month towards loan repayment which is 28 % of his monthly salary.  Question

) 9888374552
Calculate his monthly salary. < ID .A .
tatus :Answere

U Ifed HOT RPN & Ov 9fg 7989 8960 T9 ¢ar g, S 3T+ A8« dad &0 Chosen,

Option :
28% g1 39 AMAF dda $r orEar Fifsm) pron
Rs. 32,000

V' % 32,000
Rs. 34,000
25 F. 34,000
Rs. 28,000
X3 %. 28,000
Rs. 30,000
X4 % 30,000

Q.59 Sam 1s the husband of Rosy. Geni 1s the mother of Rita and Rosy. Vaz 1s Question ID :9888374592
the father of Rita. What is the relation of Vaz to Sam? Status :Answered

= (o Fr 9fg F1 Sl far 3w e FroAF o Jar Chosen Option :2

%1 a1 g1 arel dF &7 FA1 91T 87
Brother

Ans )(' 1 S:I_l_é_

Father-in-law
W, L

Father
A3, faar

Son

Xy, der

Q.60 On July 25, 2012, Shri Pranab Mukherjee assumed office as the th President of India Question
o D 9888374511

25 Sfels 2012 &I & yurg A@ell o #ARd & __ d UHid & T A 90K T ganu - Answered

Thar am| Chgsen 4
- Option :
Ans &K 11

X212
¥ 13
K4 14
Q.61 Which of the following activity is NOT allowed for Payment banks in India? Question ID :9888374534
. Status :Answered
HRA & Tl el 1 fdsAtef@a & & feg aiafafer v segAfd =87 87 Chosen Option 3
Accepting deposit
&, ST TR TR T
Offering remittance facility
X, g 99T Giaurd gt e
Distributing simple insurance products
A3, AIUROT AT 3c91G1 1 a0R0T HLam
Lending money
(-4_ T FUR gar
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Q.62 The total amount of interest received on two deposits of Rs. 5,000 for 4 years and Rs. 4,000 for 5 Question

years, made at the same simple rate of interest per annum was Rs. 2,.400. Find the rate of interest ID:
Status :Answered

9888374561

per annum. Chosen

4 a¥ & foiw 5000 ¥ dor 5 a¥ & v 4000 $r F#AT UfEAT W ATIROT AT Sl Option :*
T A ANF X B W A 2,400 T w41 A 9T giedr ¥ A s

&I gT 7 I
Ans X 1. 4%
K2 7%
V'3 6%
X4 8%
Q.63 According to experts, raging forest fires that took place in Uttarakhand recently have caused the Question988837 4505

formation of ID:
Status :Answered

faewal & AN, g &1 # 3Scau@s & Sigrell A eEfl YUUS MM % FRUT Chosen

Option :
1 f#ToT g3 B P
Phosphorous
.?{'1. HIERIRT
Black Carbon
v, st FEe
Carbon Nanotubes
X, FEA AT
Sulphur

X4 T

Q.64 A pre-independence era bunker was discovered in August 2016 at the Raj Bhavan in . Question
1D 2888374489

3T 2016 & & UoiEad H FEaAdl Witd 8 Ugel & UF de Stams.lzot ;
"Attempte

RIEZIREIE N Chosen
Gujarat Option :
<, IR
Arunachal Pradesh
2, 37U gGer
Maharashtra
o 3 FGHISE
Tamil Nadu

X, ATy

P}

Q.65 The escape velocity on the Earth's surface 1s about . Question ID :9888374521

Status :Answered
qed I Tag T T 39T 9T gl Chosen Option :2
138 km/sec

<1 13.8 frediaads
11.2 km/sec

V5 11.2 TFaass
213 km/sec

X3 21.3 fedess
4.3 km/sec
Ky, 4.3 @S
Q.66 Indra Nooyi, an Indian origin leader, is associated with Question ID :9888374515

] -_ N Status :Answered
AR Hel $1 T ol Afger S EE‘- - ¥ Fefad ?I Chosen Option :2
IBM

ADS o, IS @ Tm
PepsiCo

o godlet

Ans

Ans

Ans
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CocaCola
/3. T T
Microsoft
X 4 HZHIETE
Q.67 Which of the following Indian States does NOT share an international border? Question ID :9888374496

Bret 3 A T STRCTT Tt 1 0 AR S B T AT FA? Chosen omton 0
‘West Bengal

X afEas g
Haryana
v, Biamom
Himachal Pradesh
X5 TeHTEIe ggar
Punjab
X4 Gora
Q.68 If EAR =24 and EYE = 35, then LEG =7 Question ID :9888374582

afy EAR = 24 vd EYE = 35 &, ot LEG = ? Chosen opton 1o
Ans W 24

Ky 25

X3 22

Xy 23
Q.69 Which of the following 1s NOT a characteristic of the ‘wave™? Question ID :9888374524

= — Status :Answered
@ Far qor Hr fEsra oTel %Q Chosen Option :3
Wavelength

X aEeE
Amplitude
X 3
Frequency
X 3mafca
- Medium
4 HATEOH

Q.70 If fire 15 called ice, 1ce 15 called sky, sky 1s called fire and water 1s called rain, then where do birds Question988837 4584
fly? ID:

Status :Answered

Afe 39T FT g%, % BT ITHRM, TR H AR T gl FF arfier wgr Sar g, ar Chosen
w Option :
Air
Sl
~ Water
o S
~ Fire
3 FHET
Sky
< 4. 3T

Q.71 Find the increase in circumference of a circle of radius 14 cm, 1f the radius 1s increased by 7 cm. Question988837 4570
22) ID:
(=2
.

Status :Answered

14 0 Bisar ol us geq @1 9RfY o gfy @@ SIS, o Beam # 7 @ ggjﬁél
afe r sl &1 =)
44 cm

| 1435

22 em

X5 228

66 cm
X3 66T

Ans

Ans

Ans

Ans
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88 cm

K4 88 oA

Q72 The value of which one of the following fractions falls in between E and g ? Question ID :9888374542

Status :Answered

3 7 Chosen Option :2
_ = z ?
=fafad # & Fla-ar e _qur & g 7 gar &7
Ans X 1
4}
<3,
.4
R4 7
Q.73 Antimatter particles corresponding to electrons are called . Question ID :9888374519
u Status :Answered
gelerglel & AT dged et gl ST g Chosen Option :4
Neutrons
ST
Protons
X, dietd
Antielectron

X5, g

Positrons

SR IE MO

Evaluate: sin30  sinds Question ID :9888374571
T cos4s cos30 Status :Answered
5in30 _ sind5 Chosen Option :3

cos45 cos30

H|H ~1 o @ |
wl [ ra

Ans

Q.74

HAeichel HITSAT:

P! X
1o =
=l Gl

V3 V3
1
.?‘\”4 V2
Q.75 Which of the following is NOT true with reference to a real number? Question ID :9888374540
N . Status :Answered
frfafaa 7 ¥ Fla-a1 s ve andfas e & Gt F aer 8T &0 Chosen Option :4

All irrational numbers are real numbers
Ans xﬂl, sy ) - w 2 . w ?I
v,
A real number need not necessarily be a point on the number line

UF arrdias TEdT & fov dEar W W o At [§g glar smaas w60 ¢l

A Real number is unique

X3 T drdides FEAT Heiada gidr 8l
All rational numbers are real numbers
X, |l 9RAT FEg adfds e g

Q.76 If (2a/m + b/n) = 2 and (a/m — b/n) = 4, find the values of ‘a’ and “b’ respectively. Question ID :9888374569

Status :Answered
ATE (2a/m + bin)=2 TAT (@/m —bin) =4 §, T FHAA: ‘" TAT ‘b° &1 AT AT HITAT | Chosen Option

Ans % 2m, -2n
X, -2n,2m
K'3_ 2m, 2n
K'4, -2m, 2n
Q.77 If two-third of three-fifth of a number is 42, find one-third of that number. Question ID :9888374549

] ; Status :A d
afe; v @ & 35 F A faer 42 3, O 3@ Few @ vw e WA AR qocn ontion d
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Ans ?{1 40
X3, 3
¥4 35
Q.78 The principle of gyroscope i3 NOT used in a . Question ID :9888374522
Ve ¥ Rgia # 1 g 5 il Tl ol Status :Not Attempted

Chosen Option :--
Computer mouse
X e A3
Smart Phone
Ko, FTATE B
Inkjet printers
V5 gaie it
Racing car
?{.4. o 1
Q.79 Find the mode of the following data: Question ID :9888374573

Status :Answered
100,120, 110, 90, 120, 140, 130, 120, 110, 100, 90, 140, 120, 100 Chosen Option :2

ﬁmﬁi‘@ﬁﬁﬁﬂa—gﬂﬁmﬁﬁmz

100, 120, 110, 90, 120, 140, 130, 120,110, 100, 90, 140, 120, 100

1. 100

v 120

X3, 90

X4 140

Q.80 Find the discount in percentage, if a book whose marked price is Rs.90 is sold for Rs.76. Question IDgeee374551
e (ufdera #) Arg #ifeie, afg 90 €. ifed Aeg &1t fham 76 & A 99 A gius - Answered

%I Chosen
Option :

Ans

An

2]

Ans & 14.65%
¥ 1556 %
<31345%

41475 %
Comprehension:
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, TIT and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
1I 2400 27 30 25 18
III 1500 32 20 25 23

Hratei@a arfeier &1 3egaa F1 AJ JA ffw v geat
FT 3cal Gl

difeleht & 3 ol 1 do dear aifdd §oSes 3sd

Fafet |, II, Il garr form amm &, @mer & &est P, Q, R
dem S § forw ov aEn & widera off fgar = g

FHES forw 1w P Q R S
. GIE ]
Fuet ) (%) | (%) [(%) [(%)
qHEAT
I 1800 24 32 28 16
1 2400 27 30 25 18
1} 1500 32 20 25 23
SubQuestion No : 81
Q.81 What 1s the total number of students hired by Company II from Colleges Question,
P.R and S? D 2888374606
) o Status :A d
9T || G@RT Hiclst P, R @ S @ faw arv ol #1 Fer C;‘O‘Slznznswere
e et g7 Option :
Ans )"{il. 1752
#2. 1800
3. 1968
W4 1680
Comprehension:
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, TIT and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
1I 2400 27 30 25 18
III 1500 32 20 25 23

Hratei@a arfeier &1 3egaa F1 AJ JA ffw v geat
FT 3cal Gl

difeleht & 3 ol 1 do dear aifdd §oSes 3sd
Fafet |, II, Il garr form amm &, @mer & &est P, Q, R
dem S & fov 7w oEt &1 gidea o e mam

FHES forw 1w P Q R S
. GIE ]
Faat ) (%) | (%) |(%) |(%)
qHEAT
I 1800 24 32 28 16
1 2400 27 30 25 18
1} 1500 32 20 25 23
SubQuestion No : 82
Q.82 Find the difference between the number of students hired by Companies II Questi0n9888374607
and IIT from College R. < D :A |
. . o . tatus :
F9eT Il wd Il g@rT Fielsl R & fw 1w o T qeansit Chous sAISWERE
& FHAX AT §? Option :
Ans )"\-1_ 200
2. 220
<3210
vy 225
Comprehension:
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, TIT and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
1I 2400 27 30 25 18
III 1500 32 20 25 23

Hratei@a arfeier &1 3egaa F1 AJ JA ffw v geat
FT 3cal Gl

difeleht & 3 ol 1 do dear aifdd §oSes 3sd
Fafet |, II, Il garr form amm &, @mer & &est P, Q, R
dem S & fov 7w oEt &1 gidea o e mam

FHES forw 1w P Q R S
. GIE ]
Her ) (%) (%) [(%) |(%)
qET1
I 1800 24 32 28 16
1l 2400 27 30 25 18
1] 1500 32 20 25 23
SubQuestion No : 83
Q.83 How man}: more stutliants d_id all the three companies together hire from Questi0n9888374604
College P in comparison with College 87 < ID :A .
) w - tat :
Fletsl S #T gerell # Hietel P I ofidl Fufeial o Fer fohetel Chosan TEWETE
it o v &2 Option :
Ans ¥ 495
<2 510
3. 480
4 535
Comprehension:
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Study the following table and answer the questions given below.

The table contains the total number of students hired by IT companies I,
IT, TIT and the respective percentages of such hinng from colleges P, Q. R

and S.
IT Company | No. of P Q R S
students hired (%) (%) (%) (%)
I 1800 24 32 28 16
1I 2400 27 30 25 18
III 1500 32 20 25 23

Hratei@a arfeier &1 3egaa F1 AJ JA ffw v geat
FT 3cal Gl

difeleht & 3 ol 1 do dear aifdd §oSes 3sd

Fafet |, II, Il garr form amm &, @mer & &est P, Q, R
dem S § forw ov aEn & widera off fgar = g

FHES forw 1w P Q R S
. B Y
F9aT ) (%) | (%) [(%) |(%)
&g
| 1800 24 32 28 16
I 2400 27 30 29 18
1] 1500 32 20 29 23
SubQuestion No : 84
Q.84 What 1s the difference between the number of students hired by Company Question9888374605
IIT from College P and that hired by Company I from College ()7 ID:
] o - w Status :Answered
FUell |Il g@RT &ierar P & T arw 3R Soell | @y Fierar Chosen,
Q & forw aw ol F T F1 HAN 41 §? Option :
Ans A1 118
vy 06
<3 132
<4 124
Q.85 The famous Brihadeeswara Temple is located in ) Question ID :9888374517
_ Status :Answered
IST Eljﬁﬁfﬂ' Ay A FRd R Chosen Option :2
Telangana
Ans - N
A | deaTEr
Tamil Nadu
 , TES
Kerala
.K'g_ el
Karnataka
.?‘(4_ Fellcad
Q.86 lake 1s one of the largest fresh water lakes in Asia Question ID :9888374495
s & A £ & Status :Answered
afrer e qad 92 A Tl et TF gl Chosen Option :4
A Vembanad
B X e
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Sambhar
X,
Chilika
<3, Waular"
v, 9t
Q.87 A Statement followed by some conclusions is given below. Question ID :9888374597

Status :Answered

Statement: Adversity is the best teacher. Chosen Option :1

Conclusions:

[  Poor people are learned.

II.  Adversity provides opportunities to learn.
Find which of the given conclusions logically follows from the given
statement.

U Fud I’ 3HF Fo faved A o o @ 8
Fya: glager TRFAT Gad o Qe g
o

I fade «afFg f@fEa @i &
Il wfoee aRfeafs der & sEet g w3 2
FiA-A1 [y difeher € T GU T FAT FT ITelel HLal gl

Only conclusion II follows

V| aa fasey || ares Ftar §
Neither I nor II follows

Ko darla &Il gl &ar ¢
Only conclusion I follows

X5 hael foIsHY | drert Har §
Both I and IT follow

X4 | 3R 1 T gree #d g

Comprehension:
In a group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 cafFadl & Us WAg A 45 @1 3Ue Ued §, 37
Hfaat yed &, aur 8 & o) IuFArE 3N 7 & FEd ged
g1

SubQuestion No : 88

Ans

Q.88 Find the number of persons who read either novels or poems. QueSti0n9888374601
. o u ID:
3 SR & FEAT gdid S AT dl 3YeArE AT Hidard 96 Status :Answered
%CI Chosen
_ Option :
Ans W 77 '
2{2. 82
<3 45
~ 4. 33
Comprehension:

In a group of 85 persons, 45 read novels and 37 read poems and 8 do not
read either novels or poems.

85 =afFadl & us @HE & 45 ol 39waE Yed &, 37
Hfaat yed &, aur 8 & o) IuFArE 3N 7 & FEd ged
gl
SubQuestion No : 89
Q.89 Question

D :9888374602
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Find the number of persons who read both novels and poems. Status :Answered
! i ¥ ¥ Ch
Ans X Figh &1 Fear gdid st 39=ard iR Ffaad g« ged Opt?§§94
Ko7
<38
w45
Q.90 111 Russian, 407 Chinese and 259 Japanese tourists have assembled at a place. Identical batches ~ Questiongcega-ys,y
containing the same number of persons from each nationality has to be formed without leaving ID:
Status :Answered

out anybody. Find the total number of persons in each batch. Chosen

111 &4t 407 fﬂ?ﬁﬁmzﬁgmwwmwuﬁagﬁ afg fedr afr Optionr2
cafda &1 o G T ga%T g 9q1e o § 6 gX gl # Udh USeradr o edfaraal

T TEAT FATT @, ol G ol H AfFadl HT el HEAT AT HIfeig|
Ans 2‘{1, 18
v 21
3,10
<4 14
Q.91 assumed charge as the Governor of the Reserve Bank of India in September 2016. Question988837 4514
- ID:
a4 fder 2016 # AR Nad 86 & e & T A FR—EAL TG 05 - Answered
Fooy Chosen
| Option :4

Dr. A Panagariya
X i U gearfear

Dr. Rakesh Mohan
X, BT Teher Agd

Dr. Raghuram Rajan
X5 Bl TgUHA oA

Dr. Unit R. Patel

v, 31 3T6d AR e

Q.92 The amount of simple interest on a deposit of Rs. 8,500 for 3 years is Rs. 2,040. Find the rate of = Question
J D 9888374564

Status :Answered

AT $r T 8,500 w9 T Ui &7 3 W F FraRor At 2,040 T g1 sATST HT Chosen

s wT AT ST Option :
Ans ‘.’1_ 8 %
<o 85%
X3 9%
K4 75%

Q.93 The peripheral devices of a basic computer system does NOT include the: Question ID :9888374527
Status :Answered

U giearer deged faEen f1 aRher Bagdr # ag aifde @dt gian: Chosen Option +4
Printer
Ans ‘Kll. et
Kevyboard
Ko, &
Monitor
23, Al
CPU
oy A
Q.94 Question ID :9888374598

Status :Answered
Chosen Option :3

Ans

interest per annum.
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Statements:

I, All the dogs are black.

II.  All the cats are white.
Study the above statements and select the appropriate answer option based
on them.

FY: All the animals are either black or white.
Ans
2{1 Tsft SEaT A1 At Frer AT WG £

TR T S R [y P e |

No amimal 15 brown.

X, IS SIat s 76T g

WSome animals are black and some are white. T 9T m
. T S e 3T FE ahe g

AL LI '\-ll-'ll

No amimal 1s black and white.

X4 HS STeFa FTem 3R The 78T 2

Q.95 Who was the Speaker of the first Lok Sabha?

QI AIRTAT AT FiF 4?2
M. N.Kaul

A1 UH. UL P
G. V. Mavalankar

v, St Al AaeeT
M. A Ayyangar
X3 TH. T 3EIR
Sardar Hukam Singh
X4, FER g
Q.96 Which of the following group of rulers was NOT called *Sultans®?
et 3 & Tl der & ATl $ Gedll Al gl olidl AT?
A Lodis
<,
Khiljs
Xy, Tt
Mughals
V3 AT
Tughlags
Ky, G
Q.97 Which of the following species 1s also called the ‘Kashmir Deer’?
T & O g gonfa & sy fggor sfr w1 Sar 82
Hangul
V), B
Barasingha
.?{\"2_ IRIfEeEr
Sangai
K3, |
Cheetal
X 4, iae

Ans

Ans

Q.98
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Question ID :9888374509
Status :Answered
Chosen Option :2

Question ID :9888374499
Status :Answered
Chosen Option :3

Question ID :9888374507
Status :Answered
Chosen Option :1

Question ID :9888374610
Status :Answered
Chosen Option :4
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Statemront - _ . ..
Those who cannot appreciate music become mathematicians.

Ans VeSS e @Y wofia BT werer A8 @, 3 aIiae a9 S
TT M. Ch
?:fl

\'Ia_]orit\-' of the mathematicians are not good musicians.

No musician can be-:ome a maﬂlemancmn

K“ F1z ot Tofiaa v aifvrgs a1 99 TFar 21
= Music and mathematics do not go together. o a__?
v, "aita 3R afota ve @rr adt ged)
Q.99 Which team won the Copa America 2016 Football Championship?

Fia-dT & Peaia FAAIEAr a1 AR 2016 & Fisaad 61 &orar @2

Argentina
X, Frstéar
USA
Ko, TIF [T NS
Colombia
A 3. FrafEaa
Chile
v, faeh
Q.100 “RailTel Corporation’ 1s a ;
Lol HRUNEE Uh gl
Private Sector Enterprise
X | TS & @ seaH
Public Sector Undertaking
V) TOEaSAF &1 FT 3UFA
Partnership Firm
X3 A FT FaarT
Joint Sector Enterprise

Ans

Ans

X, TgFd & 3954

Q.101 A 15 Qs sister. C 15 Q's Mother. P 1s C's father. E 1s P's mother. How 15 Q
related to P?

AQEFrsgaglCQFrargl PC o Tar gl E P & Af

g1 9ard & Q P F/dr a7 87
Daughter

X A&

Cannot be determined

v, TR wgn R S wehar §
Grandson

.?{'3. qrar

Granddaughter

Ky, el
Q.102 Identify the professional Indian shooter from the following options.

o fadedl § @ 9T 9Rd F=ears & 9g9= |
Sudha Singh

X, g RE
Shivani Katariya
Anjali Bhagwat

V'3 3dTe AETEad

Ans

Ans

Question ID :9888374503
Status :Answered
Chosen Option :1

Question ID :9888374536
Status :Not Attempted
Chosen Option :--

Question ID :9888374591
Status :Answered
Chosen Option :2

Question ID :9888374504
Status :Not Attempted
Chosen Option :--

https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=28&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realattid=... 26/30
Downloaded From : www.sforstudy.in



2/6/2017  https://mail-attachment.googleusercontent.com/attachment/u/1/?ui=2&ik=e447869a6b&view=att&th=15a0e5903c22f64b&attid=0.1&disp=inline&realatt. ..

Lalita Babar
.?<.'4. dfelar EEY
Q.103 Which of the following is the most appropriate description of INS Arihant? Question ID :9888374490
. Fa Status :Answered
IS A T 3_ Red foe= F §? Chosen Option :1
Submarine
AnS g, detgedt

Indian Navy base

Frigate
x5 I&-91d
Aircraft Carrier

X, faAe-aE® 9a

Q.104 The sum of two positive integers 1s 42 and their difference 1s 4. Find their product. Question ID :9888374541
. Status :Answered
ar w'{uﬂﬁaﬂm 42 AT IR 4 1 31 UMD Ad HITATI Chosen Option :2
Ans 1 402
v 437
3 416
4. 376
Q.105 The length of a rectangular board is 4 times that of its breadth. If the area of the board is 256 sq Question988837 4554
meters, find its lenpth. ID:
Status :Answered
U ARIAPR @S T orarg IHAT A5 § 4 IEN {1 ARG S F aABA 256 I Chosen,y
Option :
et &, A 3uh owars A FiRIT)
A Sm
ns x‘ L 3 ;Fh_
lém
o 167
24m
X3, 2470
3Z2m
v, 327
Q.106 Total solar eclipse occurs when . Question ID :9888374520
Status :Answered
o7 HAAGOT A BT & S | Chosen Option :3

the Moon is farthest from Earth
Ans X, dear gl @ sifawaa gl W el
the Moon enters the Earth's shadow
X, ToAT gl & o 7 yaw
the Sun, Moon and Earth are in a direct line
V' &, dgar 3 gt ve el dar A7 g
the Sun, Moon and Earth are not exactly lined up
X4 Ga, dgar 3R gedl s del @ A o gl
Q.107 High tide : Sea :: ? : River Question ID :9888374575
Status :Answered
TAR-HICT - HHg =7 AT Chosen Option :4
Dam
2y, arer
Hydroelectricity
X, gerfasten
Bank
<3 Tperr
Undercurrent
W 4 Jayag
Q.108 Question ID :9888374497
Status :Answered

Ans
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Which T"k‘l‘ 1}1{1 Mzﬁlljél wing piece of literature was NOT written in Sanskrit? Chosen Option :1

Ratnavali
o, Teaaraed]
Rajatarangini
X3, Trsterfaon
Meghdoot
X, Feed
Q.109 Select the correct combination of mathematical signs from the options given to replace # signs Question ID988837 4586

in order to get a balanced equation :
Status .Answered

143923#19%6 Ch(.)sel?
T 1T el & AT el &1 @ G g # Fea  Sgo AT T Option:
Hferd HIRIOT Jed ST

14 #9#3H19H#6
Ans &K 1.+ =+ —
Ko+ x =+
Ky —++=
4.4 = x — +
Q.110 Speed of a beat in still water 1s 12 kmph and that of the current is 3 kmph. A man rows a boat Question

upstream up to 135 km and returns downstream to the starting point. Find the total time taken for ID:
Status :Answered

Chosen

UF A1 I R o A g 12 fRAlder g, dur awr &7 are 3 fHl/der g1 v Option:
afFd @d & 9nr &1 Yideer fgam # 135 AT deb S aRT & 3efehel fear @erd
BT H RS &g ox a9 @ic 3dr @1 I I B aF A H o FHG 5 A
AT FifT
Ans W 24
Ko 48
<3 36
#4.30
Q.111 Human hypothalamus gland . Question ID :9888374525
B Status :Answered
Hleld 3_|5 _”EIE AT EIEl Chosen Option :3
lies just below the stomach
X1 3T & & o
lies in the lower part of neck
X, A F e v 7
1s present in the brain
V'3 #AfEgsh & 3uffera
is attached to the wind pipe
X, qard el A S

Q.112 Find the value of *?° in the following series. Question ID :9888374578
Status :Answered
6:30::7:7? Chosen Option :4

fAratef@a sf@er d 2 &1 A gl

9888374560

the entire journey in hours.

Ans

6:30 =7 :7
Ans .?‘\'1. 56
X2 49
<3, 35
s )
Q.113 Question ID :9888374553
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Find the area of a triangle whose sides are 5 cm, 12 em and 13 em. Status :Answered

46 sq. cm o . Chosen Option :3
39 37050 N gy A Aol SrEehT feT s @, 12 T AT 13 @A )

X1 a6 Tt aHY
42 3q. cm

.?{'2. 42 Fa1 THT

30 sq. cm

V'3 30 o

38 5q. cm

?{4 38 @97 THT

Q.114 Indian Space Research Organization was formed in

Ans

Question ID :9888374531

_ ) ) - Status :Answered
m 3ANET 3 ORI EGEET] drvomoer H & ?r‘é‘- oA Chosen Option :1
Ans ¥ 1969

<. 1962
X3 1971
X4 1975
Q.115 The speed of car M is twice that of car W_ If car M covers 120 km in 2 hrs & 30 mins, what is the Question
9888374558
speed of car W? ID:

Status :Answered

FAM T 91 R W H arer & qRFN g1 A FR M 2 692 3 30 AT H 120 Chosen,

Option :
fepalt &1 g0l aF &l §, af &R W drer &A1 §7 pHon
36 kmph
X 1. 36 frati/ger
48 kmph
X 48 FRe/EeT
24 kmph
V'3 24 TsEer
42 kmph

X 4. 42 Tonsi/der
Q.116 *RailWire® is related to: Question ID :9888374538

Yera %.: Status :Answered

h ion :
Brand name of a cable Chosen Option :3
K| TH FHad FT Fig A

Fencing of railway stations

X Y EeEt 1 S

Railway electrification

X3, (e e
Railway broadband service
V4 Yo steds
Q.117 In which of the following countries did United Kingdom’s rule formally end in the year 19867 Question

Ans

Ans

9888374492

i ) ) ID:
st 5 & g dor & a¥ 1986 & Fases fharsH &1 arde UaR® § & A g - Answered
Chosen
§31T? Option :3
Australia
Ans ) o
v, ttecte
Sri Lanka
X o, et
Maldives
< 3 ATeIGEa
~ Canada
X 4 elreT
Q.118 Question ID :9888374577

Status :Answered
Chosen Option :1
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What will be the next number in the series?
2

JS ﬁ'»" 123 214,

?‘3”317'3:‘| el AT 41 gl

?<.
5’53%‘2 123, 214, 2
R )

Q.119 Find the value of & in 26 24 k- 14 Question ID :9888374547
217 9 7777 a3 Status :Answered

2 Tk o k F AW AT AT Chosen Option :3

Ans

Ans x L

¢ >
o
B = b W =

?(.'4 3
Q.120 Which one of the following is NOT a correct description of median? Question ID :9888374572

PrATad & O Fla-ar v AfeasT &1 g Hawer 787 3 Status :Not Attempted

) Chosen Option :--
It 1s not affected by extreme values.

X | g A AEN J gAfad F7¢1 gl gl

For odd number of values (n), median is (n+1)/2.

X, A (n) F faww dear & v Afegs T (+1)2 8
It 15 based on all observations of data.

V'3 g 3wt & @it derort o smenRa g &

It can be determined graphically.

X4 38 W@ied ¥ WuiRa far S awar 21

Ans
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